
Name:                                                                             Math Morning Work Week 22 

 Monday Mon. Workspace Tuesday Tues. Workspace 

1 How many times larger is 

400 than 4? 

 Compare the numbers 

using <, =, or >. 
 
0.25  ________   0.3 
 

0.30  ________   
3

10
 

 

2 Write the equation and 
answer. Stavon won eight 

tickets. Alanna won seven 
times as many tickets. How 

many tickets did Alanna 

win?  

 

 Find the product. 
 

82 x 23 = 

 

3 325 ÷ 6 = 

 

 Complete the pattern and find the rule. 

1, 2, 4, 8, 16, ______, ______, _______, _______ 

Rule:_______________ 

 

Create a pattern that has 5 terms. The first term is 3 and the 

rule is x3. 

________, ________, ________, ________, ________ 

____, _____, ____, ____, ____ 

 

 
 

4 Write the missing 

numerator.  
 

3

4
    =      

8
 

List the first 5 multiples, and find ALL the factors 

of 6. 
 
Multiples:  
 
Factors: 
 

Prime or Composite? 5 The area of a square is 36 

square inches. What is the 
perimeter of the square?   

 Use the diagram to answer 

the following questions: 
  
Name a ray. 
 

Name a right angle. 
 

Name a line. 

 

 

 

6 
 

On Thursday the Meat King Market sold 210 pounds of ground beef. On Friday they sold twice that 
amount.  On Saturday they only sold 130 pounds. How much more meat did they sell on Friday than 
Saturday?  Solve and explain your thinking. 



 Wednesday Wed. Workspace Thursday Thurs. Workspace 

1 Round each number to 

the nearest hundred. 
 
a. 504,963 
 
b. 412,345 

A. 

 
 
B. 

503,006 – 235,367 =  

2 Judy used 12 tiles to make a 
mosaic. Eight of the tiles 

are blue. What fraction 
represents the fraction of 

tiles that are blue? 

 
 

  

3 Compare the fractions using <, 

=, or >.  

4

8
               

2

6
 

 

 Write the fractions as a pair of fractions with 

common denominators. 
 

4

12
               

5

6
 

4 Write the fraction and the 
decimal shown by the 

model.  

 358,741 + 21,510 =  

5 Draw the line(s) of 
symmetry. 
 

 

 Match.   

6 
 
 

Ashton had two boxes of pencils with fourteen pencils in each box. He gave six pencils to his brother. 
How many pencils did Ashton have left?  Solve and explain your thinking. 
 
 

 
 



 


